

गुरु घासीदासविश्वविद्यालय, बिलासपुर छ.ग. GURU GHASIDAS VISHWAVIDYALAYA. BILASPUR (C.G.)

केंद्रीय विश्वविद्यालय अधिनियम 2009 के अंतर्गतस्थापितविश्वविद्यालय (A Central University established by the Central Universities Act, 2009) Phone 07752-260207, fax 07752-260154 Website www.ggu.ac.in

No/ 743 /Engg/2014

Bilaspur. Date. 12 / 09 /2014

NOTICE INVITING QUOTATIONS

Sealed quotations are invited from contractors/dealers, manufactures by speed post/registered post only for the girls hostel Drain work. The sealed quotation will be received in the office of undersigned by 04:00 PM on 19 / 09 / 2014 and opened at 05:00 PM on the same day.

S. No.	Particuler	Estimated Cost	
01	girls hostel Drain work	Rs 4.08 lakh	
Note	Seheduled item for civil works will be taken from DSR. 2007		

Terms and Conditions

- 1. Rate are inclusive of all taxes.
- 2. Time allowed for this work is one month.
- 3. Payment shall be deducted as applicable.
- 4. Income tax shall be deducted as applicable.
- 5. Quality of work shall be as per CPWD manual.
- 6. The information about quotation please contact with University Engineer in office at working hours.

Registrar (Active) Bilaspur Date 12 / 09 /2014

CC.No. 744 /Engg/2014

- 1. PA to Registrar, for information to Registrar.
- 2. Finance Officer, for information.
- 3. Asstt.Engg.
- 4. CSIT for upload in our website.
- 5. Notice Board.

University Engineer

To,

The Registrar Guru Ghasidas Vishwavidyalaya Bilaspur (CG)

Sub: Your enquiry no. S.No. /Engg/2014 Bilaspur. Date / /2014

Percentage rates are being given as follows:

Seheduled item for civil works Supply & fitting of water will be taken from DSR. 2007

ITEM NO	D.S.R ITEM NO	ITEM DESCRIPTION	QTY	UNIT	RATE	Amount
	2.8	All kinds of soil	156	cum	103.00	16068
	2.27	Sand Filling	164	cum	301.00	49364
2	4.1.5	1:3:6 (1 Cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).	25	cum	2700	67500
4	5.22	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete.				
5	5.22.6	Thermo-Mechanically Treated bars.	1500	Kg	42.4	63600
6	5.2.2	1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	19.7	cum	3750	73875
8	6.4	Brick work with F.P.S. bricks of class designation 75 in superstructure above plinth level upto floor V level in all shapes and				

34	13.18	Neat cement punning	274.30	sqm	21.40	5870.00
5	5.9.3	Suspended floors, roofs, landings, balconies and access platform.	60	sqm	187.35	11241
	5.9	Centring and shuttering including strutting, propping etc. and removal of form for :				
10	13.4.1	1:6 (1 cement : 6 coarse sand)	274.3	sqm	72.00	19750
	13.4	12 mm cement plaster of mix :				
	6.4.2	Cement mortar 1:6 (1 cement : 6 coarse sand)	47.84	CUM	2121.00	101469

Note: Rate should be quoted in appropriate column.

Seal and Signatures of the Firm

I/we have done myself/our self fully satisfied to read & examine the notice inviting quotation, general conditions contract, all specials conditions & specifications of work, applicable specifications, drawings, designs, applicable schedule of rates, descriptions, all the rules in respect of contract and all other contents in the notice and here by agreed for execution of the said specified work for the University Authority within the time period in accordance with that at the rate as quoted.

In figures	
------------	--

z In words				
Percent below/at par/above of Delhi Schedule of Rates.				
Dated	Signatures of the Firm			
Postal Address:				
Witness:				
Address:				
Occupations:				